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Example 1 x,=n( n=1,23 ... )92

Xpn — +00
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——— TR
R—1<[RI<R R NTNIRY
E9®,|K~(°
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Example 2 £#l1 D (1) 5
n®> — +oo (n— +00)

Example 3 a,=n*—n&9%. ZN%& a,=n?(1- l) CEWTBHE

n

) 1 =% =Hwee
s =N 1—; — 400

EBEP 5400l 1-251>000EH1D (2) VEATES.
Remark The Part (3) is called PUSH OUT Theorem in Japan. It means
OSHIDASHI, a winning trick of the Sumou.
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Example 4 a > 175X
a" = 400 (n— 400)
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g(x) = 400 (x = 400)

EAd 5
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(1) g(x) = a € R if and only if for any € > 0, we can find R > 0 satisfying
g

a—e<gt)<a+e (t>R)

(2) g(x) — +oco if and only if for any R > 1, we can find Ry > 0 satisfying

R<g(t) (Ry<t)




\/

3

1 GE a3 e B85 —3IR [
(SN

& == C a e 3_(1\ 5y of & “}
@
:i G < D(“ <ﬂl D(‘“; C

l Kix = L,

=iy =5
g[’{f)‘kk\

¢ 1
-

g

H" 3 2T
__; H’CL}O T
— : L o

3L >0 T T T T T T T T X

o < (9&~Q\<S

= &% Fox) < K+ L



(\)

Cv_)

‘ o
__________ S
t, B
IR
( \\\
O™ "
)
)y



Example 5 We consider

Then
g(x) =0 (x— 4o0)

Take a sequence {x,} satisfying
X, >0, x,— 400

Then it follows from Theorem 2 that

1
g(xn) = - —0 (n— 400)
n
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Theorem 3 ﬁ

2 D DREEL "
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